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QUESTION 1

Which of the following statements about \\'evaluation\\' is correct?

A. evaluation relates to the left-and and right-hand side of the V model

B. evaluation is the review of end products

C. evaluation applies to incremental and iterative system development methods

Correct Answer: C

QUESTION 2

See the figure below:
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Of which test design technique is this an example?
A. Data Combination Test

B. Data Cycle Test

C. Semantic Test

D. Syntactic Test

Correct Answer: D

QUESTION 3

See the decision and test situations below: R = (A AND B) OR C
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|1 A=false |B=true !C:false
IE.A:faISE |E:false !C:true
3 A=true |[B=true |[C=false

Which test situation is missing if the coverage type decision points modified condition/decision coverage is used?

o5 \A=true |E=1Iue iC=true|
B.

iﬂ-«:true |E=false iC=faIse|

A. B.

Correct Answer: B

QUESTION 4

What constitutes a good test environment?

A. it is possible to adequately determine to what extent the test object meets the requirements
B. it has been configured and tested by qualified personnel

C. it meets both of the requirements listed above

D. itis as similar to the production environment as possible and the test data is consistent

Correct Answer: A

QUESTION 5

Drivers can be used in the Execution phase of a test process. What are drivers for?

A. to test, at an early stage, a module that has relationships with modules not yet realized
B. to gain insight into aspects like memory use, CPU use, network load and performance

C. to determine whether the system continues to function correctly and at the required speeds under the expected
production load

Correct Answer: A
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